71

3.9. Ctxm\?e of Bas3

The rm‘lm{ﬁraf bas is \%{ RL 5 z_t':f; ¢a5 40 ‘ﬂmJ’ any.

veetwy X e R can  be  winllen  as

..sz' € + &ﬁ'ﬂ

gﬁ*n}_& i!,_.T e a-m-b'hw bagi? ‘ﬁr @'zf Thew X cap

_alg L&:L_w.ﬁw_._'fl as

b=t + p2

The W}L&a;;e f’atr_r @__(_7&;1_‘@1— and X = ("lﬂ) ire

alled e Mﬂiﬁ_alc__é with wmfhm M

buses 13. f:).? ﬁnat ;‘i- %? M}Mo'ﬁﬂ‘faltﬁl

£x,

ot 3= (1), 2=(8), wd x=(3), Thw 22 3545

The  Srvatim n}aﬂmi(e.of g,eawwln‘“cnl!? i follows.

1
4 The Comls/ ”4‘-
6 S A x X winld be
\!: [ 2, _/f (3) n_the INM)
2 | L e bosis_£3,2].




Lo

W et b b bl b skl behues baces - 1
- ___dﬂ%__i‘g _Qﬂﬂlm‘ﬁ}ﬂ o — N .
| Comsibe e chdid bas3 T,053 of R and the ol
LMF:? ;._L’i_.u ﬂ'a—} whae . .
.‘:‘.;;(3) aund ;"-ll(l).__
Er |
—— b a el x> g E.L_f_glﬂl_l._ﬁ}_\ll_!__f_?_. =
R _ cordinale wet the shodid lmsz
e wud weike T b vechrs G derms of e shuudacd J
bustz yechos -
CI—— — M= 38 + 28y i = e
- 0000 M= & + &3 .
T, +Gw= (e 2e)r Glare)
S | = (3¢ +a)e, + (2 +t)ea
R | (N . s f3GtC) o, 00000000 — !
——m— e _2C‘+C‘l ’ _____ —

A

] _éH\ﬂ:} U= (ﬁrgﬂl): ‘_g-l{)f. W Q;_Hm"' x=[fe .

L4

u __'5 _:_”ﬁ_ﬂt_ fLu, ﬂﬂnﬁ; E@h_ i’;ﬁﬂ; _ _'L’;v«_ "ll}l“" ”’V("/Yo! L”“f‘_

o : i . _?,E.I.,,_HLZ. b e _shiadad _[4"5_‘3 SENEED = = ——
Pl 2. b o vedy xe(v), hd
— . c_m_-tg_ wrt _g__g,; {y } . S




| 21

{' Now — we m&pf _'H;u Housi how  Mabpx  from _E;,.'_e,ﬂ.ﬂ k R
iﬂ.; 4, .:i‘ §.7,.Q, W & «om S:h‘ﬂmlm ( El_ﬂmi 4y Fvin
n [aaﬁ?); ‘Hrwn W’ 5 Ex.no{'{? e Ma{v’w Wit M,Z.__

T web W, U] e e x5 hven b

i f

I

| _
[ o K> U, ~2u,
| .

e, b= (), b,2(3) x=(2)

Find  The {V""‘f"%;ﬂ\ malﬁx {\’M ?—‘3’1,13:.] I'D Z-EIF_LZ)_?; e
A1 ‘F\.V‘.J L CWJ Eﬁfbdﬁfg“m E‘bf X wirt tf.hr;h).?,

1 Jaf_(lll '31) ™= (,3 [2)

~\w
s




198

Now  consdler  Hu ',m,o['&w g.# chanmps  fowm  ove

LMSB ? Ur_] Q‘LZ ‘\'n ﬂno‘h\l/( ?H.: }L’iw i f'lis"fum Haw

coords  for X ave kuown a Y -basz.  We waul

an],%—*’ 'PD U — bags,

\J ll"I

_IAAQ: E-.L/,,.V,_Z ——Y—-» ;QIJE\} — EKI‘.!J

\ A

WtV

Exl v ), v (3], e (3, e (1]
Ft:\a/ ‘THU« M“\II—‘A’JM m}‘n)(, {= (/{-'V
va () psf3 1) gt/
ARy L+ \2 3/
S= u'V= [0 Y/ S 7= [3 %)
\2 3/ 23 - -%)
Ex

| Coler Yoo bags Lux X0 _ad 51, 2%, 8703

Fr:\a/ Fhe 7‘»«“51"}7'&» 'Mﬂl‘\’;x}

<= / ;’ ;‘\ i me 3 123
o

[
0
\0 (P[ b= 3':‘6,1”)]’

The  Ianihon  mabde  bae ?w;m LM—

o= [ o
0

L g
\ Voo shoald be gl b
\ ) -

S M-
A= )

Seo. sy h!h? mjf_{gﬁm” ﬂ’!‘

2 el 1n Hhe cowrze,

If s{at. beey ,.op@_c,%zf;;z/



